MODEL : SE KC 013WI-DG/HO

ACCESSORIES QUANTITY

MINIFIX M5 x 24MM 22 PCS

PANEL POSITION

A

BODY

/1
@ ae

BOX2
DRAWER

13

B @ MINIFIX CASING 22 PCS

WOQOD DOWEL M8 x 30MM 26 PCS
/ DRAWER SLIDE 14" 3PCS
D @ SCREW M3.5 x 12MM 36 PCS
\ CPWOOD SCREW M6 x 50MM 4PCS
( SCREW M4 x 38MM 4PCS
G ‘/ POWER PIN 35 PCS
H | Y0  wHTEPNLEG 4PCS
PLATE CASTER 4PCS
o SCREWM3.5x 16MM 16 PCS
PVC HANDLE 2PCS
/ SCREW M4 x 25SMM 4 PCS
K % PVC DOOR HOLDER 4PCS
o,
¢ SCREW M35 x 16MM 4PCS
ﬁ ALLEN KEY (M4) 1PC
M /a L-BRACKET 1PC
|
(0P SCREWM3S x16MM 1PC

N w WALL PLUG 1PC

M SCREW M4 x 25MM 1PC

@éi& @ x/ ‘Zﬁk \/%><

CHEMICAL HANDLE WITH CARE KEEP DRY

2T I/

Printed On 16-05-2018 7:41:12 AM

Page 7 of 7



NV ZT:Tv:L 8T0¢-G0-9T UO pSiuld

1 40 9 abed

START ASSEMBLY

)

STEP 1
&

10 PCS

STEP 3

g
&)
¢k, i :
¢
AR =
< //\ N [}
\ & 5
V4 m
5 \\
&
Mﬂ :
r»A_NV O
(4
&
X -
Q »
4
g
g
g

6 PCS




NV ZT:Tv:L 8T0¢-G0-9T UO pSiuld L o ¢ abed

N\ c
N

>

W
2PCS

L4 7 4 4 4 4 4 L4 L4

oy
x N

2PCS

(19

30PCS

4 PCS

G

STEP 6
STEP 9

okl

4PCS

STEP 5
STEP 7
STEP 8




NV ZT:Tv:L 8T0¢-G0-9T UO pSiuld

. J0 ¥ abed

STEP 12

1PC

COMPLETED DRAWER

STEP 15

STEP 16

4PCS

STEP 10

19

/

2 PCS

STEP 11

2PCS

20

STEP 14

STEP 13

/




NV ZT:Tv:L 8T0¢-G0-9T UO pSiuld L Jo g abed

%
1 PC

R | —

4PCS
A

/STEP 19

COMPLETED DRAWER BOX

STEP 21

4PCS

1PC

4

STEP 17
STEP 18
STEP 20




STEP 22 STEP 23
A % |
@
/ — @
-
DRILLING
MAKING
\ \
S \\
\ =
1PC
STEP 24 COMPLETED

Printed On 16-05-2018 7:41:12 AM

Page 2 of 7



